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NTIPY 939 DONNNY Y95 NN y=f(x1,X2,x3,...,xn) ONNYN N YY DXPNY 1NN
.y mnvnn Sv TN dvwnn Ty R ton -n-n apann Yy D onna (Xl,xz,x3, e xn)
NI -y 0700 ONYa ONYN 0 X;,X5,X3, ..., X,  NTIPIN MOPTNNIP 10 NIPNI

PNPNON DY DTN 0NN XN D (Mspnan 7y 0N manvn
Pon xn D mymnn ownn L,z=f (x,y) DONWN MY DY 7PSPNS N Z TUND VIS NIPna
XY Mwmnn bv

XY w1 mn oo z=,/1-|x| +ln(1—|y|) PYPNON YV NITHINN DIND NN N¥D .1 HMT

Yl z=1[1—|x|+ln<1—|y|) = P9

1—|x|20 EN |x|£1 = —1<x<1

X jab)

1—|y|>0 = |y|<1 = -l<y«l

nnan . D= {(x,y)|—1 <x<1,-1<y <1} TPNPNON HW MITINN OINN

MTPIN Y5 My 75 XY mna oy onn X0 D mominod
Ay=-1,y=1 myoxsn 5510 nNY) —-1<xL1, -1<y<] :0»”pnn

yop nm (z=f(a,b)) (a,b) nmpaa z=f(x,y) mypnen 7w
z:f(x,y) INPNON ON (Z-N XY Dapn) XY Nvwnh Ny
MOLPTNNIPN MOYL MTIPIN 55 Sv qOIN X ,D 0Inna nym
AR3 »10o0-19n 2 na nown) PN 9 NN (x,y,f(x,y))
INNYN) NYWNT INNYA NP2 DHOVINIWD DINVYNN MINNIYN
W 6x—-3y+2z-12=0 :Ywnd .Ax+By+Cz+D=0 :(mIn»Y

3
.2=C Z-N DY IONOY MM SV IRNIWN L Z = —3X +EY+ 6 Nxa

0NN SV INNWN Lz =x2 +y2 PN Sw XN, xZ2 +y2 =R2Z v 993 Yv nnnwn

X2 +y2 472 =R2Z (1715 Yv novyn ,sphere) MO Yv nxnwn |, 22 = x2 + y?

Z
L1
N __
XR

2

z z
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z=C x2+y2=R2 z=x2+y? z%=x2,y2 x2+y2+2z°=R

,Z= f(x,y) 8PN 9N 0y Ax+By+Cz+D =0 7w Sund ,0onvwn MY 0¥INN) TURD

A B D
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:NANDN T HY XY Yon XY Mwinn Yy pn Y YUOnn NNV THn nYn anIna
1-2x-2y=3-x2-y2 = x2-2x+y2-2y=2 = <x2—2x+1)+<y2—2y+1):4 =
2 2

(x=1)"+(y-1)"=4 = ((1L1) nTp1a w>mw 2 o»71 Sya %n)

z="1(x,y) mpnan bv nann p XIP (X, y) =C Dpyn 910

TOND P NN NIAND P IR 1N .C Yy T OINNHN

f(x,y)=C- ,z=C mwnn oy z=f(x,y) mpnon 9 v
XY Mwmn Yy 50 Pimnn p Y Soinn aRIvn NN

u="f (x,y,z) OONWN DYDY DY MNPNY NN U DN :MIT 19INA

DINNNID U 7P8PNAN Y Nnn nown Xpy (x,y,z) =C nownn N
Y AC-5 v rEpNan Iy VY TP Yoav nown) C Yy vy
LZ=3Jy—X SPNON SV NINN NP NN NN .2 Nt

x z=Jy-x = C=y-x = y-x=C2 = y=x+C2 P9

Y by y =X -n HNN) DDNAIPN MY DN NAND NP
z u=—z (z>0) mpNaN YU NPIN NLYN N NN .3 NNT
x2 +y2
-T = _ Z _ Z _ 2 2 .
u——x2 ) (z>0) = C_x2 ) (C>O) , Z—C(X +y ) P9
< J .((0,0,0) NTIPIN 9910 NY) TNINAIS NIN NI nown Yo
X
<
v
: DX NOIYNI MK VVLIYY NIIPNON S NAITINN DIND NN NN
arctan(x - y) )
—_—, ¢ J—
1)Z=«/y—SeX/(y_5) 2)z= /4_y2 Y
0 , y=-2
2,2 Xy
X“+y -9
3)z=% 4)z= ;E 8136 — 4x2 —9y?2
X“+y x +1
—x2-y? 16 —x2 —4y?
5) 7=, 2% 7Yy 6)z=Y =~
X 1+|arcsm y|
7)Z=lnln(x—y) 8)Z=J—‘x2—y2—4‘
STPSPNON YW (NN SNOWN) NAND MNP NN N8N
9) z=1In(x>+y?) 10) z =[xy 1) z=e"%
12) z = arctan (y — x) 13)u=4x>+y>+2°
14)u=z-x>—y> 15) u=——2 (z>0)

x2 +y?
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(rmHavsn NP NN M NX7T) D 0Innd no»wn NNX TP MNAS An»p MY 93D
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lim = = lim = lim =
(x,y)ﬁ(0,0) X+y x>0 X+kx x>0 X(1+k) I1+k
-(0,0) MMPL MAIPNNN SPONI N7 k VX9 MNYN KN YD DR N 91N

y =kx

:MNAVNN NTIPI NI TPIPNAN DY NIIWNI WHNWND IWAR TPIPN DY 9123 2wND 7D
5
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. lim - :91200 NN 2V .2 DY
(x,¥)=(0,0) x* +y
x3 x5 3
MPONY DYIN 7NNV Vawn Y L 0 < |——— < | = :|x| —0  :pame
x2 42 <2 x— 0

SNPIAVIP MOLPTNNIPY T2YNT MYNNIND D) DN NN AVNT 1 .0-0 MY Yiann NHanv

5 - 5 cosd
. X X =T1CO0S . 12C08 .
lim ———= OSP = 1im Z% P im 3 cosS g 0£|r3c055(p|s|r3|—>0
x>0 x2+y2 |y=rsin@| r50 r r—0 0
y—0

TP DONPNY DY MR PITAY YTO MY 2IWIN2 DIWNNYN
f(x,y) mspnon .M;(a,b)eD-y D onna mtnwy ,mwepns z=1£(x,y) NN 91N
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) . sin(2x ) 2 4y?
4) lim (x2 +y2)cosL 5) lim M 6) lim %
3 g = ol eyt
. sin(x 3 4y2 ~ In(1+3y?
7) lim () sin 21 - 8) lim X3+—y3 9) lim (—3/)2
0 0 0
;::0 Xy Tty ?:0 Ty ?:0 (X2 +y2)
2
. 7,3 x2y . 1 &y
10) lim eX™*y 11) lim ——— 12) Iim | 1+—
0 0 + )
. 0%t 4y AN
3 3_ 2 4
13) lim X2 =X 14) lim =Y 15) lim —>

x—+0 [/6 2 X0 2 D) 50 X2 + 2
yoi0 VY X y—0 VX +y y—0 y

tan(x3 + y3)

. tan xy
16) lim ————— 7 17) lim —
;30 1n(1+x +y ) ;38 oV g
) xs—cos(Zx +2y2)+1 2+y2
18) ll—rf(l) 2 2\2 19) il—?; v
y—0 (X +y ) y— o X ry

2
5 2.3 4 3 3., .4 X
209 lim ~——2—  21%) lim >~ y6 Xy6 Y 22%) lim (%)
0 0 o0
;:0 X +y ;:0 A X +y ;:Iw X +y
8PN HY MINY A
:(0,0) nmPa z=1(x,y) MmN MIPNN MO NN PITI

iy 1 1
)z= ﬁ,(x,y)i(0,0) 2) 2= (Xer)sz—2 cos;,(x,y)i(0,0)
0 N\XY )= ,O) 0 NAXY)= 050
2X+y X2y2
A\XY)# ,(x,y)#(0,0
3)z= /x2+y (x.y)=(0.0) 4) 2={6 43 (x,y)=(0,0)
. (x,y)=(0.,0) 0 . (xy)=(0.0)
ysm(xZ) x2+y
S x, #(0,0 ,(x,y ¢(0,0
5)z= 1n(1+x +y2) y)#(0.0) 6)z=1 24 ) )
0 . (x.y)=(0,0) 0 . (xy)=(0,0)
:(L0) nmpaa f£(x,y) MR m¥pNON MOXT NN T (7

ln(x+y)

,(x,y)i(l,O)
f(x.y)= X2 +y?—2x+1

2 , (x,y)=(1,0)
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0.2
1 3 5
b)Si(o.2)=ijdt= o x oLt
t 313 515 ys 5 363:5% 51555
0
Lt 1 Si(0.2)=1 - =0.19955
51:5-55 1875000 100000 5 31.3.59

Jr

24)a)erf(x)=%J.e‘t2 dt | b)A:Terf(O.S),azo.OOOOI

X{i(— y t:l‘}dt i{j(—liﬂn dt}_

n=| n=0|

2 2n+l . x2n+l %3 %5 x7 %9
=y (-1) =Y (- ————=x—— - -
2 )n!-(2n+1) 2 )n!-(2n+1) T3NS 37 a9
n=0 0 n=0
X [59)
2 2 2 n X2n+1
f(x)=—= e dt=—=» (-1))'——— , R=
. (X) \/Eoe ng( ) n!-(2n+1) >
© 2n+1
b)A:ﬂerf(lj:ZM:l_LJr r 1
2 2 p—r '(2n+1) 2 83 32-10 128-42 512-216
! = ! < ! = A= l—L+L— ! =0.46127
512-216 110592 100000 2 24 320 5376

25%) a) S(x)zjsintzdt , C(x)zjcostzdt , b)e=0.001
0 0

509 Jsmtzdt—f{i ;i“f}t—i{hnﬂ(;::),]—

n
i t4n+3 | i _ X4n+3 ﬁ_ﬁ xl1 ~ R — o
& 2n+1 4n+3‘ i ( 2n+1 (4n+3) 3 42 1320 77
X X[ o 2n w | X
5 . (12) n tén
C(x)= [eostrar=[| (1) o a=y| [(-) |
0

0 0

t4n+1

B nz_(;(_l)n (20)n(4n+1)|
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Y N N NTIPIN 9v Xy NORPTNNIPN DX Xy (b

y=sinx? = y'=2xcosx?, xcosx2=0 =

X
5 x=0, x2=2 | x:\/£=1.2533141
2 2

(A YMN DY) IPNPRN NLYN DX YN

S
A= J sinxzdx=S( Tc/2)={%x3—%x7+13120x”—7"115X‘5+...j =
: /2
0
1 31 7 1 11 1 15
=§( n/2) ‘E(W_z) +@(W_2) ‘m(m) e
15 3 7 1
(M) ~0.0004<0.001 = A=( n/Z) —( 75/2) +(M) =0.549
715 3 42 1320
26*) y=sinx? , y=cosx? , &=0.0001
4 o, sinx? =cosx? = tanx?=1 = x2=_1 = x=|=
] y=sinx 4 4
J
A:I 2 _sinx?)dx = C([n/4) —S( /4
. \yx O(COSX smx)x (TE/) (TE/)
y=cosx* 5 4O 13
cf n/4):( ‘%*%6‘6713*“] _
S
( 11/4)5 ( Tt/4)9 ( Tr/4)13 1 13 1
A 6!.13(\/174) =0.00002 <-0.0001
c( n/4)=\/7—%( n/4)5+ﬁ( n/4)9=0.8331
S( TE/4)= l)(3—ix7+Lx“— x5+, =
3 42 1320 7115 ST
1 301 7 1 11 1 15
=§(\/ﬂ/_4) —E(\/ﬂ/_“) +@(\/ﬁ/—4) —m(\/n/_“) te.

15
L( r/4) " ~0.000002 <L.0.0001
71-15 2

1

s( n/4)=§( n/4)3—$(\/n/74)7+$( n/4)“=o.2220

C(\/4)-S({/n/4)=08331-022200=0.6111 =  A=06l11
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27) (1+x3)y'=y , y(0)=1, n=4
A(y(0) ") x5 =0 NMPIN N0 NIV NV NNXA y(X) IRNWHRD NINS NN WON)

" IV V
y(x)= (0)+y(0)X+Y() 2+y3(!0) X3 + 450) +Y5(!0)x5+

Ay'(0)=1] ovapm (1+x3)y =y MmN NNy x =0 N o080 L |y(0) =1 N

X =0 DAY IHNIN IRNYNND NPT MYSNHDNRI X¥N) NVN HY DINIAN DNTPHNN NN

1+x3 ) =y = 3x y+(1+x3)y”:y' = y"(0)=y'(0) = |y"(0)=1

n

(3X y' + 1+x3)y) =y" = 6xy'+6X2y"+(1+x3)y’"=y” = |y"(0)=1
(6xy +6x2y" (1+x3)y’"),=y"' = 6y +18xy"+9x2y +(1+x3)yIV:y’” =

6y'(0)+y™(0)=y"(0) = yV(0)=y"(0)-6y'(0) = [yV(0)=-5] =
exe s L S LSS

y(x)—1+x+§x R TR y(x)=1+x+ Tt Tt

SDTIN NON DXNTPNN NVWY MIYNNNI D) 9730 INNYND PIND IR NINND IWON

: X =0 NMPIN N2D2 MPIN NV NNN¥A y(x) NRNYND PINS IR YN

y=ay+a;Xx+a,x% +a;x3 +a xt +...
y' = +2a,x+3a;x> +4a 3 ... MmN I 030 [ay = 1] ©9IpR Y(0) =1 M0mN0
LMY DONN MW MM MPIN DTPR 12w v obapm (1+x3)y' =y nxnwnd

(1+x3)(a; +2a,x+3a;x2 +4a,x> +...) =1 +a;x +a,x> +a3%> +a x4 +..
LDYYD NN DNTPRN NN DR MPINN DTPH RNV
o

x?| 3ay;=a, = 3a3=1/2 = |a3=1/6

x3| 4a,+a,=a; = da,+1=1/6 = |a,=-5/24 =

y= 1+x+1x2+1x3—ix4+
6 24

28)y'+y?=1+x , y(0)=1, n=4

n m IV
y(x)= Y(0)+y(0)x+Y() Y3('0)X3+y4$())

y=—y2+x+1 = (v') = (y +x+1) =
y'=2yy'+l = "=(=2yy'+1) = y"=-2(y?+yy) =
, yIV=—2(y'2+yy) = yV=-203yy'+y") =

1 -2 4 1 1 1
x)=1+0x +—x2+ =x3+—x%*+... = X)=1+—-x2—-=x3 +—x4+...
y( ) 2! 3! 4! Y( ) 2 3 6

x*+..., |y(0)=1
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29) y'=sinxy , y(0)=1, n=4

n " IV
y(x) =30+ yox + X2 X0 ey

y'=sinxy = |y'(0)=0] (y')yz(sinxy)l = y'=cosxy(y+xy') =

m

y'(0)=1 , y"= sinxy(y+xy’)2+cosxy(2y’+xy") = |y"(0)=0

yV =—cosxy(y+ Xy')3 —sin Xy((y+ Xy')2 )I —sin Xy-(xy)' (2y' +xy") +

+cosxy(3y"+xy") = |yV(0)=2

y(x)=1+2i!x2+4%x4+... = y(x):1+%xz+éx4+...

30) y'—xy=¢Y , y(0)=0, n=4
_ ' y'©0) , ¥y 5 yv(©) , —
y(x)=y(0)+y'(0)x + TR RETRE T AT y(0)=0

y=eY+xy = y'(0)=1 , (y’), =(ey +xy)' = y'=eVy'+y+xy =
yﬂ(o) =1 , yw —eV (yrz + yr/) + 2yr + Xy” = ym(o) =4
yIV eV (yl3 + yryn) +eY (2yly” T ym) T 3yn + Xy”’ =

rn

YV =ey(y3+3yy 4y )43y Hxy" = |y (0)=11

1 4 11 1 11
X)=X+—x2+—x3+—x%+... = X)=x+—x2+=x3+ —x4 +...
y(x)=x+ gt egda g y(x)=x+ x4 o

31) y"=x%y , y(0)=1, y'(0)=1, n=5

_ : Y'(©) 5, YO0 5 ¥V , -
y(X)—y(O)+y(O)x+ o1 X% + 3 X3 + 2l Xt+ .., |y(O)—1

y/rzxzy = y/r(o):O , (yn)' Z(Xzy)' = y/r!:2Xy+X2y! N ym(O):O
yV =2y +2xy +2xy’ +x%y" =2y +4xy' +x%y" =  |yV(0)=2

b

y'(0)=1]

"

yV :2y'+4y'+4xy"+2xy"+xzy :6yr+6xyn+xzym — yV (0)26
4 5
y(x)=1+x+0x2+0x3+%x4 +gx5 +... = y(x)=1+x+ )1(_2+X_+

SO KON OMNTPNN NV’ MYNNHNI INNIYNRT PNIND

y=ag+ax+a,x>+a3x> +agxt+asx’+... ,  y(0)=1 = |ag=1
y' =a; +2a,x+3a3x% +4a,x3 +Sasxt +... ,  y'(0)=1 =

y" =2a, +6a;x +12a,x% +20asx3 +...
:92PNNN YPNYN SN NV MPINA MDTPHN DX INYN y-1 Y IN NN IRNWNY D)
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2a, +6a;x +12a,x% +20asx3 +...=x2 (1+ X +a,x% +a;x3 +a,x4 +asx> +)
x]2a,=0 = |a,=0
1 1
x3| 20as=1 = |as=1/20 = =l+x+—x*+—x3 +...
200 oot

32) y"+1Ly=0 , y(0)=0, y'(0)=1, n=5
—X

y(x)=y(0)+y'(0)x+ y;(!o) x2 + y’;(!()) x3 + YIZEO) x4+, [y©)=0],[y'0)=1|
yicoy=0 = (x-)y'=y = [FO=0 . (x-)y)-y =
Vrx-1)y" =y = [y (0)=1] . (Y+(x-1)y") =y =
2y"+(x-1)yV =y = [yV(0)==2] ., (2y"+(x-1)yV)=y" =
3yV+(x-1)yV=y" = |yV(0)=-5

O ARSI y(x)=x_§_%_§+
33)y"—xy=0, y(0)=1, y'(0)=0 , n=6

y(x)=y(0)+y'(0)x+ y"2(!0) x2 + y’;(!O) x3 + y1:§0) x4+ ..., [y =1,[y'©)=0|
Y-xy=0 = y'=xy = [y'(0)=0] , y"=y+xy = [y"(0)=1I
yWe(yrxy') = yV=2y'+xy" = [yV(0)=0

yW=(2y+xy") = yV=3y'+xy" = |yY(0)=0

yVI=(3y"+xy") = yVi=4y"+xyV = [yVI(0)=4
y(x)=1+0x+0x2+%x3+0x4+0X5+%x6+... = y(x)=1+€+%+...
34)yy"-y?=0, y(0)=1, y'(0)=2 , n=4

y(x)=y(0)+y'(0)x+ V(O 2 YO 5 YO . YO =1],]y'(©)=2]

2! 3! 4!
yy/r — y/z = y//(o) =4 , (yy//)' — (yrz )’ = y/y// + yym — 2y/y” —

r.m

yym — y!yrr = ym(O) =8 , (yyw)' — (yryrr)' = vy + nyV — ynz +y!ym =
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wV=y? = [yV(0)=16
Y(X)=1+2X+ixz+§x3+ﬁx4+... = y(x)=1+2x+2xz+ix3+gx4+...
210 T3 4 313

35)y"+y?=2¢V , y(0)=0, y'(0)=2 , n=4

” " IV
Y(X)Zy(0)+y'(0)x+ yz(yO) x2 + Y3(!0) 34Y 450) X4+ ..., |y(0):0| , |yr(0):2|

yn =DeY — y/2 = yﬂ(o) ) , ym — (2e_y _ y,2 )' .

ym _ _2(e,yyr + yryrr) = ym(o) =4 , yl\/ — —Z(Ciyy, + y/y,,)’ -
YWV =2(-edy 2 rey 1y 4yy") = yV(0)=-12
4 12

2 2 1
x)=0+2x ——x2+—x3-"x%*+... = X)=2x—-x24+=x3 ——x*+...
y( ) 2! 3! 4! Y( ) 3 2

+
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